Maths

Find the length of an arc and the
perimeter of a sector

Miss Parnham
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Find the length of an arc and the perimeter of a sector

1.Match the sectors to their arc length 3. Find the arc length and the

formula. v, perimeter for each sector, correct to 3
’ significant figures.
9m
5 cm
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2.a) Find the arc length of this sector 1200
in terms of . w
b) What is the perimeter? /2 cm 147 m
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Find the length of an arc and the perimeter of a sector

4. Find the arc length and the
perimeter for each sector, correct to 3
significant figures.

a) b) 52 mm
82°
D
5cm
1.6mM
c)
221°

5. OPQ and ORS are sectors of circles
with centre O. Angle POQ is 80°.
OS=7cmand SQ=3cm.

Find the perimeter of the shaded

region, correct to 3 significant figures.
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Answers
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Find the length of an arc and the perimeter of a sector

1.Match the sectors to their arc length

3. Find the arc length and the
formula.

perimeter for each sector, correct to 3

significant figures. AL=942 m
AlL= 105cm P= 205cm

P=27.4m
5cm
AL 356 mm P=526 mm

AL=69.3 m

3 P=98.7m
2.a) Find the arc length ofthis sector
iNn terms of M. 471 cm 120°
b) What is the perimeter? /2 cm 14.7 m

49T + 24 Ccm




Find the length of an arc and the perimeter of a sector

4. Find the arc length and the 5. OPQ and ORS are sectors of circles
perimeter for each sector, correct to 3 with centre O. Angle POQ is 80°.
significant figures. o| =74 4 rnm P=178 mm ©S =7 cmand SQ =3cm.
a) o) S52mm Find the perimeter of the shaded
870 region, correct to 3 significant figures.
AL=131cm P
P=231cm Small arc Large arc

=9.77 cm =14.0 cm
1.6 M
c) AL=617 m Perimeter
221° P=9.37m =297 cm
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